e FHREENORBEREL |25

118X S4B YDHE ! e e s N
AESE AR Rk asn s anL sy B EAR(T A QOIEH TSR E !

1 XEEFRERR (6AKRRHE)

g / B #HlAGE&R| B F

6 B B # & 2
SM7E6AX 43
SfM6E6HXK 52
EREEIEN -9 9

o= | =[S

2 ERUASEHRRERR ==
; PNl LS -
u ﬁﬁﬁ; Z D] .‘gA;EExiwﬂw EEfiz] B2 | HZ 0| ALy £ ol ERERE |4 -
% #l 4 4 3 6 1 12 7 4 2 0 43
i X ) 93% | 9.3% | 7.0% | 14.0%) 2.3% | 27.9% | 16.3% | 9.3% | 4.7% 0.0% 100.0%

3 ERFIABTHEERR —BFEL. STEHFONHFTRORRHNRO TSNS |

£ G S8 -
2\ O
® RS EEER| BTRS | REEE | msst | BHL |Axfss| STEpE | —BReL| BB Z0i [Esras =
# # 1 2 0 4 1 2 4 4 15 10 0 43
i X ] 23% | 47% | 0.0% | 9.3% | 2.3% | 47% | 9.3% | 9.3% | 34.9% | 23.3% | 0.0% |100.0%

4 BEERIRIA B ERREERR @ J B BRORMECSRELTShs - |

B & & & 5

[X AN = g =
X 9 7 B Mg Te~i0]o~r2[12~1a[1a~16[1o~1s] IEf |ie~20]20~22[22~24[0~2 ] 2~4 ] 4~6] IEF i
% #H 3 9 5 5 4 10 | 36 5 1 0 0 1 0 7 43
# 3 =] 7.0% | 20.9% | 11.6% | 11.6%| 9.3% | 23.3% | 83.7% | 11.6% | 2.3% | 0.0% | 0.0% | 2.3% | 0.0% | 16.3%| 100.0%
3t & # 1 0 0 0 0 0 1 0 0 0 0 0 0 0 1
. s | IZEBEIE. KABANILAYE
5 ERHIASERRERE GEEE) AL -
T 5 2 & | % X B & = i
X 4 : P £
X B 7 B o~ 58 | Gomzam)| osm~csm) (os@UL) |7 A <
5 & ¥ 4 7 25 9 45 g
i X ES 8.9% 15.6% 55.6% 20.0% 100.0%
3 =l % 0 0 0 1 1
6 XHBEFAFEHREERREER
X B FHlmmez| BF |25 | btE | BB | 22 | £R | 8 | &8 | Xf0 | i [LHEE|EERES]| AF
SH7E6AK| 13 | 11 0 0 4 2 1 0 2 0 9 1 0 | 43
[ess| o 1 0 0 0 0 0 0 0 0 0 0 0 1
W= | 30.2%]25.6%] 0.0% | 0.0% | 9.3% | 47% | 2.3% | 0.0% | 47% | 0.0% [20.9%] 2.3% | 0.0% |100.0%
SH6E6AK| 15 | 10 | 2 2 7 1 5 3 0 0 6 0 1 52
[ess| o 0 0 0 0 0 0 0 0 0 0 0 1 1
WRE | 28.8%] 19.2% | 3.8% | 3.8% | 13.5% | 1.9% | 9.6% | 5.8% | 0.0% 1.9% |100.0%

[ EREREN oOHESE ]
EENICEBNEABONEARITEMENLTHD. BEDEER
RHFERTIINEACEBIMERTHDIETS. HAEADERFR
I EIRBEHOENAHESINTNET,

BEERTNICR/NTIE, AFDS5AKRRET. AEADLE—
LEEEBRDASZTESHOM BOHHEELTNET,

AEANEZ<ERIDIEEOLVYN-SHEFOERIC,
REAICTT DEEDEARNRIZBI—ILEDBEICDONTT
BHEHBENLET.

(EBEEHOAESARONEAOR KT SXEER]

SRS EAZICEETIER
FEEELZDLGNGE  RTE
OEMIZ#FE->THEZ S EEHE
RHYFET !
BAE®OIGEL—ILORMIZZ
i h<FEEL !

ABEHR MttER

# = 3 114

2RIZHEHDIEE 7.30% 1.50%




